Leuze
FAREBER
B3R 2 T ok
BliEdgm=: 50113208
IS 288MP/2NO-1E5

ES

- BASH

- RYEE

- B

- BR

- BEMER

- FRESHER
- e

- B

Z

B AR E C € C@US

LISTED

Leuze electronic GmbH + Co. KG info@leuze.com * www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2024-04-12 1/6



BRI « BfF4RS: 50113208 « IS 288MP/2NO-1E5

BRSH

ERE

%5l

SR NBERE S
NS,

n

BHSH
MTTF

BAHE
RiF R

M RERIR
HEBBE Uy
RIRBBE
FrEE R

BEEB
BEERE,

BA (S WESL)
BA (S WEML)
FIE

i
BFTFRERH H

FFREMHH
BERE
BRAFFRBIR
RARRBR
BER

FREBHHA
F T

FRRE

)52

FIES RS
HE R

B
BEOBE

HEHE1
ae

el

BYAKE
PEMH
BYHHE
SHBE
ZOBE

The Sensor People

288
1.5 mm
0..1.2mm

900 F

RIRHERE
BRI RHP
EBRR

10...30V, DC

0...20 %, SREU,

0..10 mA

10 %, WEEAN THRETE

5 %, U, =20...30 VDC Bt , FRERE
T,=23°C#5°C

20 %

14

DC
200 mA
0.1 mA
<2V

SE, NPN
NO (BT AtR)

3,500 Hz
60 ms

14

fiteg B IR
ES@mH
B4
2,000 mm
PVC

e

3

0.14 mm?

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

WS

&1

RI¥ (Ex@ExK)
RERA

AFEMHE

EBAR

BRE AR

BE

AFEEE

REXRE
PRAERAR

BREMETR

BREH
LEDZ

HEHSE

HRERE , T
HRERE ,

TAE

B S5

REEH

N

& BT EE LHEMCIRTE 7

BIFbR

EEEREK

ECLASS 5.1.4
ECLASS 8.0
ECLASS 9.0
ECLASS 10.0
ECLASS 11.0
ECLASS 12.0
ECLASS 13.0
ECLASS 14.0
ETIM 5.0
ETIM 6.0
ETIM 7.0
ETIM 8.0
ETIM 9.0

info@leuze.com * www.leuze.com

Leuze

FH

8 mm x 8 mm x 40 mm
FFF

K-

ZAMAK

BR, R (PBT)
39¢g

416 , RAL 3000
iR

BARE

8 x 8 mm? , Fe360

LED
14

-25...70°C
-25...70°C

IP 67

1l

cULUS

IEC 61000-4-2
IEC 61000-4-3
IEC 61000-4-4
IEC 60947-5-2

0.45
0.8
0.4
0.55

85365019
27270101
27270101
27270101
27270101
27270101
27274001
27274001
27274001
EC002714
EC002714
EC002714
EC002714
EC002714

REBAREEHRF

BBi% : +49 7021 573-0 « {5 E : +49 7021 573-199  chi « 2024-04-12

2/6



BRI « BfF4RS: 50113208 « IS 288MP/2NO-1E5

R B Leuze

BRI RMIIREK
8 8 8 8
3 3
Pan Y e o pan 'l ke o
% - | < -
N A
A O A
™
o (@) = o
AN < AN
[Te) ™
o A
| «~ 2
0 ® A
i %
1 |
B
. | g
Mw L - -
= g g8
M8x1
A BREXE
B H#®BLED
=
BAER
EE1
Ihae {Hep iR
EEMmt
E3id) R
BAKE 2,000 mm
PEMR PVC
BT %=
SL&BE 3%
®OBE 0.14 mm?
SEHE D BR
we V+
=) GND
z26 OouT 1
Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA

The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2024-04-12 3/6



BRI « BfF4RS: 50113208 « IS 288MP/2NO-1E5

Eipap

RE | FPRE

> 3S, :
D13 1

| [mm]

S, [mm] 1.5

D1 [mm] O

D2 [mm] 5.5

D3 [mm] 10

a TEEZER
b AR

a ®BRXFX
b IREER

2,0

1,8

1,6

1,4

1,2

1,0

0,8

0,6

0,4

0,2

[mm] 5

mmmmsm ON @

11| N0

BRAENER

LED £
1 G, KR

The Sensor People

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

L]

FF ok B H/IT MRS

info@leuze.com * www.leuze.com

BBif : +49 7021 573-0 « £ : +49 7021 573-199

Leuze

REBEAREEHRA
chi + 2024-04-12 4/6



BRI « BfF4RS: 50113208 « IS 288MP/2NO-1E5

7 S ik Leuze

==

=mEM : ISXYYY ZZ/AAA.BB-CCC-DDD-DDD

ISX ThRERE / Rt
IS : BRI X, PR
ISS : BRKFTX , kit

YYY EX
203 : @ 3 mm %5
204 : @ 4 mm %5
205 : # M5 x 0.5 SMELH = RBRF
206 : @ 6.5 mm %5
208 : # M8 x 1 JMELH ™= mR5
212 : # M12 x 1 JNMELH 7= R R 5
218 : i M18 x 1 JNMELH ™= R R 5
230 : # M30 x 1.5 SMEL = B R 5
240: FRARIT RS
244: FRAZIT RS
255 : 5 x 5 mm? BEHARS
288 : 8 x 8 mm? B EFHR I

7z ST /B

MM : BT (BRXE : BH )/ AHIRE

FM : £22BAR (BRI : FHM AISI 316L ) / NHIERL

MP : €BAFE (BRXE : B )/ AFIHBRY
AAA BT/ BR

4NO : PNP &#& , EFF il (NO)

4NC : PNP ®&#&& , MRS (NC)

2NO : NPN R4 E& , EFF it (NO)

2NC : NPN &% & , EiMfis (NC)

1NO : 4kE888 , EFF = (NO) /AC/DC

1INC : 4¢E388 , EMALS (NC) / AC/DC

44 : 2 PNP @B F <5 Him , K3 (NO +NC )

22 : 2 NPN &#&EFF R , R3¥ (NO+NC)

BB HHREE

BUH : TS HRES

5F : R@MIE

5 : A% V2A (1.4305, AISI 303)
CCE NEBE / ZEER

1E0 : WIBMESTEERE 1.0mm / FELE
1E5 : IR ESTERE 1.5mm / FELRE
2E0 : MR ESTEZERE 2.0mm / FERE
3E0 : WIRMESTEERE 3.0mm / SFELE
4E0 : WRMESTEERE 4.0mm / FFERE
5E0 : IRFRMESTERE 5.0mm / SFERE
6E0 : MR ESTE R 6.0mm / FERE
8EO : MMRMESTE A 8.0mm / FERE
10E : WRIEMESEEEE 10.0mm / FFFEERE
12E : IR ESEEERE 12.0mm / FRERE
15E : WRIRMESEEEE 15.0mm / FFFERE
20E : PR ESBEZEE 20.0mm / FFERE
22F : RPRMESBEZRE 22.0mm / SFERE
2N5 : PR ESEEER 2.5mm / FEFFRE
4ANO : PR ESTEAER 4.0mm / FEFRRE
8NO : PR ESTEAERE 8.0mm / JEFFRE
10N : RPN ESTEZXE 10.0mm / FEFFRE
12N : RN ESTEXE 12.0mm / FEFFRE
14N : PRV ESTER 14.0mm / FFFFERE
15N : PR ESTESR 15.0mm / JFFFERE
20N : PR ESTEERE 20.0mm / IEFRRE
22N : PR ESEE KR 22.0mm / IEFFRLE
25N : HRBRM ESEEER 25.0mm / IEFERE
40N : PR ESEEERE 40.0mm / IEFERE
DDD BASERE
HUE : B4, fREKE 2000 mm
S12: M12 EE#ERs , 4 4, B

200-S12 : 841 , & 200 mm , % M12 EE#ER , 4 5, EF
200-S8.3 : B4 , K& 200 mm , # M8 EERERR , 3 ¢, BEF
$8.3: M8 EiEH#SR , 34, B

005-S8.3 : 848 , & 500 mm , % M8 BElIE#RE , 3 & , EF

050 : B4 , FRAEKE 5000mm , 378

& P A AR B RBIRBEEFT S NH ML www.leuze.com,

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2024-04-12 5/6



BRI « BfF4RS: 50113208 « IS 288MP/2NO-1E5

L

Leuze

A EFRE W EANE |

b AR eERE  REATARRE.
Y REERT AR BB AET,
S ERREEBRARERA Ao

/\ #uims -

L XWTFULNA , RENEC(REERBSME)ERIAAF 2R B AL,

a3
REBERE - Htb

B RS =L [
50115600 BTC 088M-140 REGE

i8R

RIIGRIZIT: BREX
BEMEEY: EXRE
EBMEEH: TRE
REIGFRA: ARE
wE: &R

BER B

% PR A A B B ERTE LS5 5 M M A B 41 A 15 B R E Y T 80LT .

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

The Sensor People

REBEAREEHRA
chi + 2024-04-12 6/6

info@leuze.com * www.leuze.com
BBi% : +49 7021 573-0 « £ E : +49 7021 573-199



